Renault Laguna (5-d), Zestaw $rubowy:

(rok prod.2001-), M12X70 2 szt.
M10X35 4 szt.
M12X35 4 szt.
M10X100 2 szt.
Podktadki:

12 6 szt.
310 4 szt.
J10x330 6 szt.
310x335 2 szt.

IBAK-PQIL

BlzUB

Sprezynowki:
312 6 szt.
10 6 szt.
Nakretki:

M12 4 szt.
M10 6 szt.
Tulejki:

J18X65 2 szt.

M10X35

M12x35

Moment skrecajgcy dla srub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.




